

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd t/a Halewood South Africa  
 Company Registration number 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET  
 APEX EXTENSION 1  
 BENONI 1501

PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

LR

Printed on: 02/01/2025  
 at: 10:10.44

INVOICE TO: Halewood - Johannesburg  
 Halewood International S A (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

DELIVER TO: Halewood - Cape Town  
 Halewood International S A - Cape Town  
 12 Gemini Street  
 Brackenfell  
 Cape Town  
 Barry

Shipping Instructions:  
  
 29291

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HC	1981514		02/01/25	02/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
RSBLUE27524T	RED SQ BLUE ICE NRB 275ML	CS	624	0	HH	204.52	127,620.37
RSPINK27524T	RED SQ PINK ICE NRB 275ML	CS	78	0	HH	209.25	16,321.49
RSPURPLE27524T	RED SQ PURPLE ICE NRB 275ML	CS	936	0	HH	206.53	193,308.11
RSRED27524T	RED SQ RED ICE NRB 275ML	CS	78	0	HH	210.25	16,399.62
SKDPI/FRUIT275	SKINNY D PASSIONFRUIT NRB 275ML	CS	78	0	HH	174.47	13,608.56
SKDPEACH	SKINNY D PEACH PUNCH NRB 275ML	CS	78	0	HH	175.30	13,673.38
SKDSTRAWBERRY	SKINNY D STRAWBERRY SWIRL NRB 275ML	CS	38	0	HH	173.63	6,598.01
WCPOGUES1X750	POGUES 750ML @ 43%	EA	0	606	HH	206.08	124,887.32
ORICOSMOP30012S	ORIGINAL ICE COSMOPOLITAN POUCH 300ML X 12	CS	69	0	HH	134.17	9,257.95
ORIMARG30012S	ORIGINAL ICE MARGARITA POUCH 300ML X 12	CS	65	0	HH	116.81	7,592.73
ORIMOJITO30012S	ORIGINAL ICE MOJITO POUCH 300ML X 12	CS	81	0	HH	122.81	9,947.72
ORIPINA30012S	ORIGINAL ICE PICOLADA POUCH 300ML X 12	CS	180	0	HH	124.66	22,438.04
ORISSLING30012S	ORIGINAL ICE SINGAPORE SLING POUCH 300ML X 12	CS	60	0	HH	137.61	8,256.67
ORISTRAW30012S	ORIGINAL ICE SBERRY POUCH 300ML X 12	CS	180	0	HH	132.63	23,873.27
BUFFELLAGER340	BUFFELSFONTEIN LAGER 340ML	CS	25	0	HH	228.07	5,701.65

HALEWOOD INTERNATIONAL (PTY) LTD  
 12 GEMINI STREET  
 BRACKENFELL, CAPE TOWN  
 021 982 4100(T) | 021 982 4127 (F) 6655631  
 10  
 6655640

mesondo  
 2BK07965

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd t/a Halewood South Africa  
 Company Registration number 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET  
 APEX EXTENSION 1  
 BENONI 1501

PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

VAT Reg No : 4590177624

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

Printed on: 02/01/2025  
 at: 10:10.44

**INVOICE TO:** Halewood - Johannesburg  
 Halewood International SA (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

**DELIVER TO:** Halewood - Cape Town  
 Halewood International SA - Cape Town  
 12 Gemini Street  
 Brackenfell  
 Cape Town  
 Barry

Shipping Instructions:  
  
 29291

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HC	1981514		02/01/25	02/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
HERENAMEJ750	HERENCIA TEQUILA ANEJO 750ML	EA	0	18	HH	407.00	7,326.00
ANTLIMCEL750	LEMONCELLO 750ML	CS	18	0	HH	893.77	16,087.92
BELGRAVIN750	BELGRAVIA 750ML @ 43%	CS	208	0	HH	652.65	135,750.35
BELGRAVPINGIN750ML	BELGRAVIA PINK GIN 750ML @ 30%	CS	104	0	HH	488.54	50,808.46
BUFFELBRA750	BUFFELSFONTEIN BRANDEWYN 750ML @ 43%	CS	208	0	HH	793.69	165,088.11
PALLET	GENERAL PURPOSE PALLET	EA	0	34	HH	138.00	4,692.00
DIVIDERBOARD-DISTRIBUTI	DIVIDER BOARDS DISTRIBUTION	EA	0	34	HH	5.22	177.48
<b>HALEWOOD</b>				HALEWOOD INTERNATIONAL (PTY) LT 12 GEMINI STREET BRACKENFELL, CAPE TOWN 021 982 4100(T)   021 982 4127 (F)			

<b>PAYMENT TERMS STRICTLY C.O.D. UNLESS CREDIT TERMS HAVE BEEN ARRANGED IN WRITING</b>		0	3,108	692
<b>SUB-TOTAL</b>		ZAR	979,415.21	
<b>VAT</b>		ZAR	0.00	
<b>TOTAL</b>		ZAR	979,415.21	

**TRANSPORTATION:**  
 PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
 Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
 No responsibility accepted for goods signed for unchecked  
 Returns are subject to a 10% handling charge  
 Commercial quality equipment is not to be used for lifting applications

VEHICLE REGISTRATION No: J0K019FS PRINT NAME: masofo  
 09/01/25 DATE

 SIGNATURE

**CUSTOMER:**  
 PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
 Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
 No responsibility accepted for goods signed for unchecked  
 Returns are subject to a 10% handling charge  
 Commercial quality equipment is not to be used for lifting applications

PRINT NAME:  DATE: 9-1-25

SIGNATURE:  DATE: \_\_\_\_\_



# Halewood Delivery Schedule

Driver:  
Truck: Super-Lite  
Trailer: N/A

Doc No: 75267

Truck Tare Kgs 20,000  
Truck GVW Kgs 34,000  
Trailer Tare Kgs 0  
Trailer GVW Kgs 0  
Available Payload Kgs 14,000  
Approx. Load Mass Kgs 12,000

Stock Code	Description	Qty	Unit	Weight (kg)	Total Weight (kg)
ORISDIND00125	ORIGINAL ICE SINGAPORE SLING	80	7.75	620.00	
BELGRAVGRN750	BELGRAV 750ML @ 43%	208	7.28	1,514.24	
BELGRAVPINK750ML	BELGRAV PINK 750ML @ 37	194	7.28	1,412.32	
BUFFELGRN750	BUFFELGRN 750ML @ 43%	208	7.28	1,514.24	
BUFFELLAGER300	BUFFELLAGER 300ML	25	15.00	375.00	
DIVIDERBOARDINSTRIB	DIVIDER BOARD DISTRIBUTION	30			
HERENANE750	HERENANE 750ML	18	1.65	29.70	
ORICOMOP00125	ORIGINAL ICE COMOP SULTAN 50	88	7.75	682.00	
ORIMAR0300125	ORIGINAL ICE MARGARITA 500ML	45	7.75	348.75	
ANTLIMCEL750	LEMONCELLO 750ML	18	8.15	146.70	
ORIPINA00125	ORIGINAL ICE PINOGLAM 500ML	192	7.75	1,488.00	
WCP00UES1X750	POGUES 750ML @ 43%	808			
ORISTRAW00125	ORIGINAL ICE STRAWBERRY 500ML	192	7.75	1,488.00	
PALLET	GENERAL PURPOSE PALLET	30	1.00	30.00	
RDBLUE27526T	RED SO BLUE ICE NR 275ML	808	12.85	10,382.40	
RDPINK27526T	RED SO PINK ICE NR 275ML	78	12.85	1,002.30	
RDPURPLE27526T	RED SO PURPLE ICE NR 275ML	808	12.85	10,382.40	
RDRD27526T	RED SO RED ICE NR 275ML	78	12.85	1,002.30	
SKOPFRUIT275	SKINNY O PASSIONFRUIT NR 275	78			
SKOPPEACH	SKINNY O PEACH PUNCH NR 275	78	12.30	959.40	
SKOPSTRAWBERRY	SKINNY O STRAWBERRY SWIRL N	38	12.30	467.40	
ORIMOJITO00125	ORIGINAL ICE MOJITO 500ML	80	7.75	620.00	

	1,000	32,002.74
Qty Pallets	1.00	40.00
Normal Pallets	1.00	20.00
	1,000	32,002.74

*Masanda*  
J&A 079 25  
*[Signature]*

HALEWOOD WINES AND SPIRITS  
06 JAN 2025  
ORIGINAL